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WY :Ke_clu_cecl and C.Omple:“e Models

- We lhave seen examp les of +esting
whether a sinS\e. B;=0 (whether +he
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Coc\mram‘s T\neore,m (Spechl c_agse):
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Exomple : Test H,: =B, =0 in the

cth&r'o:h'c— r?ﬂress(on Y\ © Ae,\ -Por' -\-Le
ski-racer  datan. Use x=.05,




ExamPle, laLﬁqu\: Consider —Fi‘H‘fnj a Second-
order reqression model (Com'c Surﬁuce,) to
the colleqe date. Ts Hiis needed |, or is
+he first-order wmodel sudfLicient? Use x=.0S
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use«cu\ —For Your Frojecj‘. See aJSo
He exowmp le R code on +he course

wel paqe.



